[image: image1.png]67. Two athletic teams play a series of games; the first team to win 4 games is declared the
overal) winner. Suppose that one of the teams is stronger than the other and wins each
game with probability .6, independent of the outcomes of the other games. Find the prob-
ability that the stronger tcam wins the scries in exactly i games. Do it for i = .
Comparc the probability thal the stronger team wins with the probability that it would
win a 2-out-of-3 seric:





[image: image2.png]68. Suppose in Problem 67 that the twe teams are evenly matched and each has probability
£ of winning cach game. Find the expected number of games played.




